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From where do we derive those that are liable for exile

OVERVIEW

The X713 asks how do we know that the 1"¥ do not receive their punishment when
the falsely accused someone that he is M3 2>°17, unless there was a 1°7 “n3 that the
accused is M7 2°11 (the same rules that apply to (17221) MpYn a0 °2%0. Our MODIN
explains the need for a special 7% for Mm% *2>n.
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The explanation of the question P Mm% °2»n is, from where do we derive that
the 1"v do not receive np» (for testifying falsely that someone is M3 2>°17) unless
there was a verdict issued that the accused is m23 2m.

nvoIn asks: ,
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And there is a difficulty; for since when the 1" testified that one is n\¥3 291, so

the 1"y are 2% in mpb» -
= YUY YU 1993 929 PN 229N

And regarding nipv» s2°°1 we already derived through the w"t of yw= pw= that
there is no Mpo» 211 unless there was 7 M3 so why is another 72 necessary for m>x *2»n,
which in essence is really mpn *2>n?

N1B0IN answers: 3
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So "'w1 explained that from that ,05 of ywn vy we can only derive a case

where the 1"y falsely accused the defendant to receive nmp>» or 7n" (in those

cases there is no punishment unless there was a 17 3) - ;
199990 XY MY P10 1WIWHNYI HAN "2915 193971932 YU YYIT RIP INNY

For this ?0p of ywa »w1 is written concerning the accused, however when the
1"y accused the defendant for m»3, we cannot derive that from ywa ywA, therefore

! Regarding the two previous questions in the X3 (regarding in"» 2> and NP *a»n), the words An» and nrpon
can refer both to the accused and the 7"»m7 0>73. However, here the term nm%3 »2°11 can refer only to the accused, but
not to the 1"y, since they never receive n123 as a punishment.
2 x,2 mwn.
> b avn '
* The X"w mn amends this to read 7nmn Mpon (instead of 7n*» X MPYY). The X"wAmn on N193 a»n 1"7 >"wA deletes
the words 710" W completely.
3 The word yw1 which is written (in 82,72 [*yon] 12713) concerning 1n°» which is ¥w1 X7 WK 17X WHI2 793 WpN RN
N2, and the word ¥w which is written (in 2,73 [X¥n] 0°127) regarding Mmp?»n which is w13 N137 12 oX 7°M are both
discussing the defendant, not the 1"v. Therefore we can only use this 712 to teach us in a case where the defendant
is mpon 2n that the 1"y do not receive Mp?» unless P77 WA (just like by 7in%), but we cannot derive this rule in a
case where the defendant was not NP2 27, but rather M3 271, See ‘Thinking it over’.
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another T»°7 is required.

SUMMARY

The w"m of yw1 yw is effective to teach us that there is no MpP?» 211 unless MM
177 if the accused was mphn 2, but not if the accused was M3 2 (regardless
that the 1"y are NP7 2°0).

THINKING IT OVER

How can we explain why it is necessary to mention that the yw3 which is stated by
an" is referencing the 171,° seemingly all that is important here is to say that the
ywawhich is stated by mpon is referencing the 1771 (since we are discussing only the
mpon 210 for the Prntt oo7v)?

6 See footnote # 5.
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